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Practice Grade &5

Lesson 1
1. Mode! each number on a place value chart. Then write
each number in standard form.
a) two hundred fifteen thousand seventy
b) seven hundred fifty-four thousand three hundred
twenty-six
¢) one hundred thirty-three thousand five hundred

Lesson 2
2. Shannon wrote three numbers in expanded form.

500000 + 80000 + 700 + 6
500000 + 80 000 + 1000
500 000+ 70000+ 200+90+9

Write these numbers in standard form. Then arrange
them in order from least to greatest.

3. Rebecca researched the attendance for some women's
basketball games.

a) Arrange the attendance figures in order from least
to greatest. Explain your strategy.

b) The attendance in week 7 was between the
attendance in week 3 and week 5, but it was closer
to the attendance in week 3. Could it have been
121 0007 How do you know?

Lesson 4
4. in one week, the blood in an average

human travels 675 780 km on its

journey through the body.

a) Model this distance on a
place value chart.

b) Write this distance in words.

¢) Wirite this distance in standard
form rounded to the nearest
hundred thousand, ten thousand,
and thousand.
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2. Shannon wrote three numbers in expanded form.
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Grade 5 Practice Test Name:

1. |have 6 thousands + 2 hundreds+ 6 tens+ 3 ones. What number am 1?

2. 1have 8 thousands + 11 hundreds+ 6 tens+ 17 ones. What number am |? ?—

3. What numberis 100000+ 2 000+ 80 + 67

4. Write this number in expanded form {ex 100+40+5) thirteen thousand four hundred fifty-one

5. Write the standard form of this numberin words: 50 000+ 1000+ 600 +4

6. Create this number using base ten blocks: 2 117

7. Write this number in standard form, word form and expanded form:

Standard form:
Expanded from:
Word form:

8. Write this number in standard form, word from and expanded form:

EmEm ([, ...
EEEE I

Standard form: /




Grade 5 Practice Test Name:

1.
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5.

I have 6 thousands + 2 hundreds+ 6 tens+ 3 ones. What number am |? Mg
I have 8 thousands + 11 hundreds+ 6 tens+ 17 ones. What number am I? E / 7 '7

T
What numberis 100000+ 2000+ 80 + &7 /OQ Dﬁ(’é)

——
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Write this number in expanded form (ex 100+40+5) thirteen thousand four hundred fifty-one

1O 000 + 3000+ Yoo +50t)

Write the standard form of this number in words: 50 000+ 1000+ 600+ 4 5 /

ﬁf\cﬁ/ one. Hhousand <ix huind red %ur

6.

7.

8.

Create this number using base ten blocks: 2 117
wasmnt =t ' ] ‘
\ v sy’

Write this number in standard form, word form and expanded form|::|[|
® @ _[ill

Standard form: ' |3 5 00

Lo

Expanded from: 1O 000 4= 3000 *, KO0

Word form: ‘H’)il"{'?eﬂ %mSo.nd VPJ_I/'P N

red
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Write this number in standard form, word from and expanded form:

EmEE
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Standard form: 3 g 5 5




Expanded form:

Word form:

<,

9. Organize these numbers from least to greatest: 14 677, 14 776, 10324, 14667

10. Use inequity symbols to compare numbers 2 € = (greater than, lesser than and equal to): —

a) 10+15[ ]25  b)10560 [ | 9377 ) 3000+500+40+1 [ | 3970 :

11. Place each number on the number line then order from least to greatest:

a) 1361, 1320, 1399, 1350

1 S
1300 1350 1400
P |
b) 10642, 10625, 10699, 10610
G g — __i.. | 1_ = -
10 600 10 650 10 700
12. How many $100 bills would you need to pay for each:
$7 000 $4 500 S8 700
a} N b) C) /
13. How many $10 bilis would you need to pay for each: é
$6 000 $ 1t £100 $1320
a) b) c)
6X1= 11X1= 132X1=
6 X10= 11X1tens= 132X 1tens=
60 X 10 tens = tens

- B



Expanded form: :3 OO Q !1” ?O O + g @ v 5
Word form: € = 8] G-f’id ' df
five

9, Organize these numbers from least to greatest: 14 677, 14 776, 10324, 14 667

1033 14 667 M 6TT7 . 14 T6h

10. Use inequity symbols to compare numbers 2 < = (greater than, lesser than and equal to):

a) 10+15[ ] 25 b)10560D 9377 ¢} 3000+ 500+40+1 a 3970
25 =35 7 3

11. Place each number on the number line then order from least to greatest:

a} 1361, 1320, 1 399, 1350
1220 \35\0 136 1357
| ! I 1 i ! "

| l ’ X & F ol
1300 1350 1400

N\

1320, 1250, 136l 1399

b} 10642, 10625, 10699, 10610
o0 1o 106 10629
| il | . 1 -} ! ) i i M|
I T — X S i i H

A
10 600 10 650 10 700

10 LI0 1D LIS 1O b4 O 99
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12. How many $100 bills would you need to pay for each:

7 x\=7 $7 000 $4 500 $8 700
-7 % \0=70

7 x1ep= 7003 0 b)_ 48 087 6

$ens X |00 t 700 rems
13. How many $10 bills would you need to pay for each:

$6 000 $1 7100 $1320
a) (4(]() b) ”Q C)_LBQJ__
60 x/ioo™  exi=_le 11x1=_1} 132x1=_ |36V
5000 6x10=_{[0D 11X1tens=_ I/ 1€MNS 132X 1tens = ZBQM_{’

60 X 10 tens =@Qtens {10 l 53&0
(g0 +ensr 6000



